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1. wﬁmam@ﬁww’@ﬁw/mﬁm:

' 1x8=8
Choose the correct answer |/ Answer the
following :

(a) ?W@?WWW@WW{@IW
T |

is known and regarded as the father
of modern macroeconomics.

(i) < oy
Adam Smith
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(2) | (3)

i) & R @

| (i) o T NP
J.B.Say . - ‘ NNP at market price
(@) & . @3 fiy) T e GNP
J. M. Keynes GNP at factor cost
() S/RT dogr g ¢ J ﬁmmwﬂﬁm¢q(APc» e
None of them. “ Average properiSItY to’consume (APC)
(b) B3 TR oo wy ™. ‘ () AC/AY
' oo ‘Y
The Consumptlon f . . (ll) C/
known s .o fixed capital is (i) Y /C
(i) S=wy f-%sm | (iv) AS/AY
depreciation : e e T &7
(%) e ‘1'37{ ﬁsm What is fiat money? '
capital forination ' o e W ﬁmﬁt oy e
§ . w %W GW . el e o
(i) Ritcns Rorg . 0 A7 -
tnvestment : On which ~fagtor KeyneSIan theory of
. : n |
(iv) ST @@ 4 - employment depends?
_ All of the above ' () e i '
o SR tive demand
© Wy g N ) 2{"::
National income is, @ Supply
() ©mE s NNp (i) TeT T
NNP at factor cost : ‘ Production efficiency
NDP at factor cost f the above
: None O
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(4)

(6) TERRA bt Soem Tray vy
Mention one benefit of inflation.

M) 3 MPC = 0.80 w7, cog Rivan e 3
LE |

If MPC=o. 80, then
. investment multiplier is

) 4
(i) 8
(i) 5
fiv) S*RI qbrs 7y

None of the above

the valye of

© ) N

% = R O T oS 5y oy g (e
d¢o WF‘R@) Tk ,

4x4=16
Write short notes on any Jour of the following
(within 150 words each) S
(a) “mfRsre wed@iRy o s

Objectives of macroeconomicg
®) T W o Gpp

Nominal ang real GDp
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d cswefR
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Functlons ; of money

A\V-H-'\

o"'ﬂﬁl \@bs) :l
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500 words
f nowmg questions (within
the 0.
Answer
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W/ Oor

| 6+6=12
| 4 qEIPEE, IO
e 11 A o
” Explain the following concepts
s TR T P
’ Stabilization

Economic growth vs- -
(i) e o RN e SR
. ro-
13El‘!“z“ical and Keynesian mac
Class:
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Explain z b
the value-addeq mefhod f N
o

computing GDP
- What :
between GDP and welf::l;e relationship

S}/ Or

(b) ::(f\rﬂm RS w1y g -
| GDP W% GNquWgé;Em
- Kol

W of national

-Sector eco
T
GDP ang GNp.omy'

5. (@) RREm e
R = R
- N RRw

Explain the ¢
. € c1

income in ara:::r
Distinguish betweey,
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6. (@) TeorH AE R AfRE e Sg!
o ¥4 11
Explain critically the classical theory of
determination of output and
employment. _
%1/ Or
(t) S ST S ¥ @ AR
7 A? g ¥
How is equilibrium level of income
determined dnder the Keynesian
i system? Explain.
7. (@) w{mqﬁmﬁ{@?ﬁm«{aﬁﬂﬁm
©gCo! FACADAPR I ]| 3+8=11
What do you mean by the value of
money? Critically examine Fisher’s
quantity theory of money.
{1/ Or
) oS A g 90 4+4+3=11
Explain the following :
() @R &FE
~ Types of money
(i) TArES
Inflation
(iij) @I SN
Measures of money
* ¥ %
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